1 -1 0 O
IfA=({0 1 -2 2|, describe Col A and Nul A.
0 2 -4 4

Col A= {b € R3 Ax = b for some x € R*}

by
Thatis b = [bz is in Col A iff AX = b is consistent.
bs
Consider |0 1 -2 2 bzl [ 2 b, ,
0 2 _4‘ 4 b3 0 _2b2 + b3
So, b is in Col A iff Ob; —2b, + by = 0.
by
Hence Col A consists of vectors of the form %b3 where b, and bs are free.
bs

1 0
Alternatively, Col A consists of vectors of the form S[Ol +t % for s, t scalars.
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Now, Nul A={x € R*: Ax = 0}

1 -1 0 0 O 1 0 0—-2 2 O
Consider (O 1 -2 2 O0|~|0 1 -2 2 0
0 2 -4 4 0 0 O 0 0 O

Sox = [le € Nul A iff x;=2x3—2x4 and X, = 2X3 — 2X4 wWhere x3 and x4 are free.
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Alternatively, Nul A consists of vectors of the form slﬂ + tl_oﬂ for s, t scalars
0



